


/—Q x*+ x4=47, x>0, then the value of
(2x-3)? i

IS x4+ xIDG7, x> 0 B, T (2x-3)2 BT AF

ST N |
(a) 9
S

SSC CHSL 11/08/2021 (Shift- 1)
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el 3 (1) ey




@If X + —=27217,x > 0, then the value

/jf x+—18

it
_x %R'?‘l’g q-ﬁ-x4+____27217x>0% Fﬁ x+3 -

X X
‘%_‘B.ém T BRIT?

(X (a) 15 (b) 11

(c) 17 \)6)’13
1"’%"‘&\“‘*%1 SSC CHSL 15/04/2021 (Shift- 3)
13




@If 4./3x? + 5% — 2./3 = (Ax + 2)(Bx + C)
then what is the value of (A+B+C) (A>0)
qfq 4.3x + 5x - 2/3 = (Ax + 2)(Bx + C)%,

L/\a’r(mmq BT {9 F1d 6 | (A>0)

&y -
o H) 4 (b) 4+/3
13 Toe3n-253 (c) 243 (d) 4-3

U (Foet2) - FaCFmar )
(Y 13)(HB)



If x2 =b - ax and x3(x3+c) = d, then
which of the following can be the value

g/—m‘{and d?
Ifd %2 = b - ax and x3(x3+c) = d g,

"t—.,!f-:.-a ArfiREd 3§ ¥ ¢ 3R d T 99 T & FH
£

(a) ¢ = a’-3ab and d= b3

3+3#;1b andd--b3
- 3ab and d = b3

CHSL 2021




@ The identity 4!z+7| !22-1! = Az2+ Bz + C

holds for all real values of z. find the
CGl 2o

P" value of Az2+ Bz + C holds for all real
_——"values of z. Find the value of A2- B - C.
ARC z & GH ardfdd AF @ fog wdafie
1l 4(z+)(z—1)=Azz+Bz+C%IA2-B-C

g S 2% BT AT SIS B

(a) 40 (b) 16

&U —SQ“\‘?_% (c) 36 (d) -16

NG
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© Saauane
, what is the value of x®

;1;2391:4+1?
x2-9 =
x+1-0‘6\,ﬁ‘fx3-6239x4+1

=0 &7 71 T 7

_O
N (b) 1
(d) -1
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qﬂ”’?’l‘%‘f 3=0,the value of 8x° L ?

3

@ 5

gf¢ 4x* - 37 x2 + 9 =0, x>

~ \2
't =N 0 8x° 27HT:I§rrHEF¥I A> IS
oW (nE 9)- | (& 3)—0‘1,(215 b) 215 L &g X
(‘11?' l)("t-‘\)- (c) 35 d) -35

SSC CGL 16/08/2021 (Shift 02)
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If (x + y)J~(x - y)>-3y(2x2- 3y?) = ky?,

then find the value of k.
e (x + y)>-(x - y)° - 3y(2x2 - 3y?) = ky?
g k ®T A4F 3T PN |
< =K (a) 10 (b) 8
k=11 (c) 10.5 (d) 11
@ SSC CGL 19.04.2022 (2nd Shift)




2
@ If (a+1+3) =16, where a is a non-

, L zero real number, then find the value of
1
2 —_— -
Ic a’+ .= )
e 2
—  afe (a+1+3) =166l a Ud YUK
3 a

grdfde 9T §, a2+a—1233T14Ff§ﬂHEIﬁI
(a) 49 (b) 7

@ (c) 3 (d) 47

SSC CGL 21.04.2022 (3rd Shift



If X=\1+\/§_M1_‘f§then the value of
2 2

(correct to one decimal place)

|, 3 J3 ., J3-x
e 15:_\‘1+2 Vl 23’[ \f_+x I
H9 T 81T (S¥Meld & P R dF o)

31 2 (s
g (a) 0.25 (b) 0.17

) 2,& () 0.19 Jﬂ027 UK

=Q-133 E 2 < )

=0 @ KW




@ If A= 0.312,B = 0.415and C = 0.309,

then what is the value of A + B+ C?

gfe A = 0.312,B = 0.415and C = 0.309,
dl A+ B+ C &1 9 fba+r &7

I%ti }\ §

o) 1211/1100 a) 1097/1100
(c) 1043/1100 1gp1141/1100

O-J122. .. @




@ If 2x : =7,x # 0,then what is the
X /\

/_\ 8x° +5x° -1 ,:,---,;-")lq>
3 \ value of e

"3_‘&”_ Sx -25x%° -1
19
‘35((3) -y (b) 18
13
(c) = 12

SSC PHASE IX 2022
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If X2 -4x - 3 = 0, then what is the value
a 27
e
* of ?
(1%:2 +4x - 3)

AN-3_y +4-— ( ' 27)
x X x* -
I x2-4x-3=07%, A G|
l1'3+m (x +4x—3)
H9 ST Y |
8 (a) 9% \ﬂfu% @
led Y @10 (@ 9%

SSC PHASE IX 2022



If Vx ~_ =14 , then the value of
Jx

|
]6 sz + iz is (correct to one decimal
X
place):
1
e =14 8 @ [x*+— @ 9
-'esq G- Lo el

g (GHed B 91E U RIH d& H8)):

(a) 14.7 (b) 16.6 \
013\\'” @ 15.9 (d) 17.8

SSC PHASE IX 2022




If 3x(3x-8) +y(y + 1) + 4 22 -2z +

16% = (0, then what is the value of

6x+y+2z)?
afe dx(dx-8) + yly + 1) + 4 22 - 2z +

16% =08, T (6x+y+2z) P T4 T PN |

() 6 (b) 4
(c) 2 a7 8

SSC PHASE IX 2022




What must be subtracted from x3 +
3x%y+ 3xy?-y3 to get x3-y3?

x3-y3 W & & forg _£3+332§+ 3xy2£ﬁ
X T TSHAT ST A1 |

(a) —3x%y + 3xy? '/b{ 3x%y -| 3xy?2

() x° - y° (d) x? + y?

SSC PHASE X 2022
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@ Find the value of a2+ b2 + ¢2- 2ab + 2ac
-2bc,ifa=x+y,b=x-yandc=2x -

| 8

Jf¢ a=x+y,b=x-y3dRc=2x-17%, dl

aZ+ b? + ¢2- 2ab + 2ac - 2bc @[ H[H SId

PITTY |

2 _(a) (x -y - 1)2 (b) O
1‘2'7("') M(2x +2y-1)? (d) (2x - 2y - 1)2

© SSC PHASE X 2022




What should be added to : to
(x - 2)(x - 4)
@ @ B 5234-_,6?( T L
X° —-5x X -
S - e i ¢ 1
7 LY
@2)x2) Orey)ix - 20 - 4

2x -5
(x* - 5x + 6)(x — 4)

ez B 7
X -7Tx+12 X“+7Tx+12
M- 3 1 1
C 3) ()0 ")(c) x’ -Tx-12 <) x’ +7Tx -12

qred 8P

CDS 2021



If (p + 2) (2q-1) = 2pq ~10 and (p-2) (2q-

1) = 2pq - 10, then what is pq equal to?

Yyv-Pp = -lom_ afe (p + 2) (29-1) = 2pq -10 3R (p-2)
\14' P e (2q—1]=2pq-10%,a’qu$rm?rr?ﬂ?r
~Yoy-P =— |?_ P

~3P=-20 (a) -10 (b) -5

VMS@ e CDS 2021
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V7x +./5y)*- (V7x-V5y)® = 4y* + Bx’y




\
®Ifa—b l L i-lthen find the value of s

a+tb 3" b+c 4 ' c+a 5 ab+bc+ca




@ R 1Y 1.1y 1 1)
x| — R —%— ] —
lf x+y+z=0,then find thevalueof \V¢*2) \x 2/ X V),
| Q
(a) 0 (b) 3 —N W= -
53 4 T oz xy

@ — 3y )
Mz
7



3 \3 3
x—lj - 2Jc—é +(3x—g] =l(2x—l)(4x—3)(9x—2)
4 - then find the

fis]

X
value of




@ fa+b=canda’+b’=2c"thena’ +b’ =?




Lu 5
O5) (0B 1) = oS M5 g
aZbr (ath)



@ Ifa+b+c=1, ab+bc+ca=-10and abc = 8 then a’b + ab® + b°c +
bc” +c’a + ca’=?
(a) 0 (b) 14

(c)-13 e
Hotc)(alotbere) = bR BCboc™ CIIRC
w +3ahC



g s ]
a +—=350,a>0 . R
N | , then what is the valueof « ?

a4+l—50a>0 a3+l
a"q.q A R D
d';_:'.zfacGL PRE 07 March 2020 (Shitt 3)




| 1 I N il 1
@a——:b,b——:c c——=a

If « b and ¢ ,then what is the value of ab+bc I ca ?
L .1 1
qur e kA @b be ca AR AR
——
A - LoL-1 C oapC
Qabc
J—"".L'I’L':-b 0




e

If b+c=ax,c+a=>by and a+b:gg,then the value of O\x+1l y+1 z+1

‘lf-"'—“- al 1

qﬁ b+c= a,rc+a by dUuT a+b=cz % r-ﬁ' 9 G\VJF] EHJ &l Hled

v O= b=c=I

CGL PRE 06 March 2020 (Shift 2) 29
(a) 0 (b) 1 =77
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.@PXL 1 + 2 + /3, then the value of 2x* - 8x3 - 5x2 + 26x - 28 is
afex=1++2 +/3 g d 2x% - 8x3 - 5x2 + 26X - 28 & H{ TAZ0?

@22 (b)33 ()55 66 leaye
'x— _‘%.hr?_ @ RDO*SW
o= p=S+3e

C‘X"-‘n =Mx29¢




If x+1=x* and x>0, then 2x* is

(a) 6+4+/5 (b) 3+5+/5
7+3V5




'5‘ 1 1 1
g’& + )3+ (y+2)3= —(z+x)3,then (x* + y° + 2°) can be expressed as:
1 1

MG (x+y)3 4 (y+2)3 = —(z+x)%%a’f(x3+y3+z3)$T$HWWﬁTﬂTG|TW%:
gz BEt)o+2E+n) Matn+aEtn) (03

byt (=) =
('x-&‘:ﬁz)'-‘—%[( )¢ {J‘é

22O BHAZY - 23 3y
—3( ) )C =AWz
; 3,.3..( M )3&() ) *3;\23%\0




Giver®fat x, v, z are positive real numbers, if (x+y)2-22=8, (y+2)2-x*=10 and (x+z)>-y’=7, then (x+y+z) is:
o i, Y, 2 elTCH AIEATae TEAIT g, ﬂﬁ(xw)zz =8, (!+z! x=10 3T (x+ z)zyl 278, @

(x+y+2) Faeshs et giam?
t)g (b) 7 (c)8 (d) 6

@) (surgre) (g Feffogtoafi) =25
'd'l'Z"')(f!U CX"*J'FL)?-: PAY



©(53-1)(53+5%+5§+1)mqw ST BN |

(a) 5 (b) 4 (c) 10 (d) 25

(a-1)(03+a™ a4\ ) = o

5"“-—\
'®




@- 4 Eﬁ( +1)mmﬂwﬁm?

23+3y2 7
V3+15y x/_ V V34334
a) (10 +156) (b) (10V3-15v2) (c) -(10y3- 33@ ( d] (10V3+33v2)
N=23-35= ,;r @
-£3
=6hMR

> 2353053
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